
% 75 −−Violine œœ
ιœœ œœ

ιœœ
ε

πϕ»∞™
œœ

ιœœ œœ
ιœœ œœ

ιœœα œœ
ιœœ

(arco)

ο
œœα ιœœα −−œœ œ œœ

%
5

œœ
ιœœα œœ

ιœœα œœ
ιœœα œœ ‰ œœα

ιœœα −−œœ œ œœ
Ο

œœα
ιœœ œœα ιœ

%
9

œ ιœ ‰ œœ œœ œœ ιœœ ‰ œœ œœ œœ ιœœ ‰ œœ œœ ιœœ ‰ ‰ Œ ‰
π

%
13

œœœ
ιœœα œœœ

ιœœ
Ο

œœœ
α ιœœα −−−

œœœ
œ œœ œœœα

ιœœα œœœ
ιœœα œœœα

ιœœα œœœ
‰

%
17

œœœµ Ιœα −−−
œœœ

œ œ
Ε

œœœ∀
ιœœµ œœœ

α ιœ œœœ∀ Ι
œœµ œœœ

α Ιœ œœœ
α

Ι
œœ œœαα Ιœ

ƒ
%
21

œœ
ιœœ ‰ œœ œœ

Ε
œœ∀ ιœœ ‰ œœ œœ œœα∀ ιœœ ‰ œœ œœ ιœœαµ ‰ ‰ ιœœœ

µ ‰ ‰
ƒ

%
25 −−œœ= −−œœα = −−œœµ= œ= œ= œ= −−œœα = −−œœα =

−−œœ= œα = œ= œ=
−−œœµα = −−œœµ=

%
30 −−œœαα =

œα = œα = œ= −−œœα = −−œœ= −−œœµ=
œ œ œ∀

−−−
œœœ

−−œœ
Ο

‰ œœœ
∀

,
≤ œœ, œœ, œœ, œœ,

%
35 −−−

œœœα , −−œœ,

Ε
‰ œœœ

∀µ ,≤ œœ, œœ, œœ, œœ, −−œœ
, œœ

, œœ, œœ,
ε

−−œœα , œœα , œœ, œœ,

%
39 −−œœ

, œœ
, œœ, œœ, −−œœα , œœα , œœ, œœ, −−œœ

, œœ, œœ, œœ, −−œœ∀ , œα , œ, œ,

%
43 −−œœ

, œœ, œœ, œœ, −−œœ∀ , œα , œ, œ, œ∀= œµ 3 œα œα =3 œ œα
ƒ

œ= œ∀ 2 œ∀ œµ= œα œα

Die Epiloge Stefan Kohler

www.tonfabrik.com

(2005)Spieldauer 6' (3' 40")



%
47 œ=2 œ œ œ= œ∀ œν œα =2 œ œ œα =2 œ œ œ∀= œ œ= œα œ=

1 œ œ= œα œ= œ œα = œ

%
51

œ∀= œµ 3 œα = œα œ=2 œα œ= œ∀ 2 œ∀= œµ œα = œα œ= œ œ= œ œ∀= œ œα =2 œ œ= œα œ= œ

%
55 œ∀= œ œ œα = œ1 œ œ= œα œ œ= œα œ œ∀= œ œν œα =

3

œ œ œ∀=
2 œ œ œα =

3

œ œ

%
59

œ∀= œ œ œα = œ œ∀ œ∀= œ œ œα = œ œ∀ œα = ιœ=
ιœ œ∀ = œα = ιœ=

ιœ œ∀ =

% −−
63

œα ‰ œ ‰ ιœ∀ ‰
ο

œα = œ∀ =
‰ Œ ‰pizz.

ƒ
œœ

ιœœα œœ
ιœœ

arco

Ε
œœα ιœœα −−œœ œ œœ

%
67

œœ
ιœœα œœ

ιœœα œœ
ιœœα œœ ‰ œœα

ιœœα −−œœ œ œœ œœα
ιœœ œœα ιœ

%
71

œœ ιœœ ‰ œœ œœ
ε

œœ∀ ιœœ ‰ œœ œœ œœµ ιœœ ‰ œœ œœ ιœœα ‰ ‰ Œ ‰
ο

%
75

œœœ
ιœœα œœœ

ιœœ
Ε

œœœ
α ιœœα −−−

œœœ
œ œœ œœœα

ιœœα œœœ
ιœœα œœœα

ιœœα œœœ
‰

%
79

œœœµ Ιœα −−−
œœœ

œ œ œœœ∀
ιœœµ œœα ιœ œœœ

α Ιœ œœµ ιœ œœœα Ι
œœ∀α œœ Ιœα

ƒ
%
83

œ ιœ ‰ œœ œœ
Ε

œœ ιœœ ‰ œœ∀ œœ œœαµ ιœœ ‰ œ œ −−−
œœœ

œα ιœ −−−
œœœ

œœœα Ιœα

%
88 œœ ‰ −−œœαß

−−œœ −−œœα œœ ‰ −−œœß
−−œœ −−œœα

ιœœ ‰ ‰ Œ−
π

2 Physiker 4


